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# FE I SCRAA Y AL
_enable_partial filling = True

TimeSlot = Enum("TimeSlot", "NA new_day pre_trade trade_hours post_trade day_close")

class DealsMaker(threading.Thread):
def __init_ (self):
super(DealsMaker, self). init_ ()
self.halt_dm = None
self.inner_feeds = None
self.feeds_sender = None
self.simu_tick _receiver = None

self.current_date = None
self.current_slot = TimeSlot.trade_hours
self.day flip flop = None
self.is_noon_time = None
self.order_seq_in_day = None

self.latest _ticks_info = None
self.active orders = None
self.expired_orders = None

self. feeds queue = queue.Queue()
self. orders_queue = queue.Queue()
self. ticks queue = queue.Queue()

SEMF A LB NNSE 20
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def run(self):

# create and run a feeds-processor instance
self.inner_feeds = queue.Queue()

self.feeds_sender = FeedsProcessor(self.inner_feeds)
self.feeds_sender.start()

self.simu_tick receiver = SimuTickReceiver(self. ticks_queue)
self.simu_tick _receiver.start()

# start the deal-making service
self.halt_dm = threading.Event()
while not self.halt dm.is_set():
self.mark_time_slot_in_day()
self.work_on_orders_and_ticks()
self. feeds_queue.empty()

# notify the feeds-processor to stop as well
self.inner_feeds.put_nowait(None)
self.feeds_sender.join()
self.simu_tick_receiver.join()

def stop_dm(self, wait=True):
if self.halt_dm is None:
return
self.halt_dm.set()
if wait and self.is_alive():
self.join()

if self.simu_tick _receiver is None:
self.simu_tick_receiver.stop()
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def new_order(self, op, code, num, price):

o Bk - TE

:param op: %KM, buy - KA, sell - FH
:param code: MZEARHD

:param num: ZFLHEL

:param price: HIHEMNH%

order = {
'op': op,
'code': code,
"num': num,
'price': price
}
print(" P TN, JrFl: %s, REACY: %s, BALE: %7d, M. %7.2f"

% (op, code, num, price), flush=True)
self. orders_queue.put_nowait(order)
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def work_on_orders_and_ticks(self):

TR 3 ) 25 BRI 4 kR #A & — 232 £ 46 F FoTick

# time.sleep(0.01)

try:
if self. orders_queue.empty() is False:
order = self. orders_queue.get(timeout=1)
if len(order) > 0O:
self.on_receive_order(order)
except Exception:
traceback.print_exc()

# time.sleep(0.01)
count = ©
try:
if self. ticks_queue.empty() is False:
tick = self. ticks_queue.get(timeout=1)
if len(tick) > o:
self.on_receive_tick(tick)
count += 1
except Exception:
traceback.print_exc()

time.sleep(0.5)

if self.current_slot is TimeSlot.trade_hours and len(self.active orders) > © and count > 0:
self.do_deals_matching()
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def mark_time_slot_in_day(self):

s Fl P4 9750 5 ] Bk - 2 E#%£ID

if self.current_date is None:
self.current_date = '2018-07-19'
self.current_slot = TimeSlot.trade_hours

self.on_slot _new_day()

@property

def next_order_id(self):
_order_id = "{}_{:0>4}".format(self.current_date.replace("-", ""), self.order_seq_in_day)
self.order_seq_in_day += 1
return _order_id

def on_slot _new_day(self):
print("** new_day", flush=True)

self.day flip flop = ©
self.is_noon_time = False
self.order_seq_in day =1
self.latest_ticks_info = dict()

self.active_orders = dict()
self.expired_orders = dict()
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def on_slot day close(self):

e Ratirs O S & i

print("** day _close", flush=True)

for ptr in self.active_orders.values():
ptr["state"] = "closed"
self.persistent_record("order", ptr)

one_order = ptr["raw_order"]
obj = dict(
msg_type="closed",
message="1.KMH]",
reason="",
order_id=ptr["order_id"],
code=one_order["code"],
# more info
submit_time=ptr["submit_time"],
revoke_time=datetime.now().strftime("%Y-%m-%d %H:%M:%S"),
revoke_num=ptr["raw_order"]["num"] - ptr["acc_num"]
)
self.push_feed_to_queue(obj)
self.expired_orders.update(self.active_orders)
self.active_orders = dict()
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def on_receive_order(self, one_order):
print("## received:", one_order, flush=True)

success, extra = self.validate format(one_order) ﬁé}lﬁ _ %Zﬁff- 2 3¢
if not success: X

obj = dict(
msg_type="invalid",
message="JCR A",
reason=extra,

)

self.push_feed_to_queue(obj)

return

success, extra = self.validate timeslot()
if not success:
obj = dict(
msg_type="rejected",
message="f4i",
reason=extra
)
self.push_feed_to_queue(obj)
return

if one_order["op"] in ["buy", "sell"]:
success, extra = self.check available ticks(one_order)
if not success:
obj = dict(
msg_type="rejected",
message="JH41",
reason=extra

)
self.push_feed to_queue(obj)
return
self.register_new_order(one_order)
o s . = s
BRI AR E AR E TUNE 26 &5
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def validate format(self, order):

IS S 48 2 4% 2 I 1

:param order: A 5iE4 . 7
:return: True - I IEHG, False - =045 1% ﬁé’lﬁ — é‘jﬁﬁf- 4k 32

op = order.get("op")
if op is None or op not in ["buy", "sell"]:
return False, "JXFE4A"

required fields = set(["op"])
if op in ["buy", "sell"]:
required fields.update(["code", "num", "price"])

provided_fields = set(order.keys())
if not required _fields.issubset(provided fields):
return False, "&R/bAdE 7B

if op in ["buy", "sell"]:
code = order.get("code")
if code is None or type(code) is not str or code.strip() == "":
return False, "iEZfCALHG AR

try:
if type(order["num"]) is not int:
order["num"] = int(order["num"])
if type(order["price"]) is not float:
order["price"] = float(order["price"])
except Exception as e:
return False, "$EBEU#E 7B U IR "

if order["num"] <= @ or order["price"] <= 0.0:

return False, "HI#REE SN IUE LR
if order["op"] == "buy" and order["num"] % 100 != O:
return False, "HI LHERNZ10000M55"

return True, None
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def validate_timeslot(self):
if self.current_slot is not TimeSlot.pre_trade and \
self.current_slot is not TimeSlot.trade_hours \
or self.is_noon_time:

return False, "JEXZZHfE" ﬁé’xﬁ — %iﬁi’h?&

return True, None

def check_available_ticks(self, one_order):
ptr = self.latest_ticks_info.get(one_order["code"])
if ptr is None:

return False, "UEFAADTCAEE AT 5"

return True, None

def register new order(self, one order):
order_id = self.next_order_id # allocate a new order_id sequentially
timestamp = datetime.now().strftime("%Y-%m-%d %H:%M:%S")

self.persistent_record("request"”, one_order)

A& — fde dr £ 26

# add to active orders' queue

ptr = dict(
order_id=order_id,
submit_time=timestamp,
raw_order=one_order,
state="active",
last_deal_ time=None,
acc_num=0,
num_deals_made=0

)

self.active_orders[order_id] = ptr

self.persistent_record("order", ptr)

BRI AR SRETINE o8 L PR
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# send feedback form to client

obj = dict(
msg_type="accepted",
message="0C.{k",
reason="",
order_id=order_id,
code=one_order["code"],
submit_time=timestamp

)
self.push_feed to queue(obj)

def push feed to queue(self, obj):
try:
self.inner_feeds.put nowait(("feed", obj))
except asyncio.QueueFull as e:
print("Warning: inner queue for feeds-sending is full!", flush=True)

def persistent record(self, category, obj):
try:
self.inner_feeds.put_nowait((category, obj))
except asyncio.QueueFull as e:
print("Warning: inner queue for feeds-sending is full!", flush=True)

BRI AR SRETINE 59 m L PR

ChinaHadoop.cn



def on_receive_tick(self, one_tick):
# print("4bPETick: %s, %s" % (one_tick['code'], one_tick['time']), flush=True)
if one_tick["code"][0] > "6":

return . £ 4 ﬁ

# ordinary codes
tick_time = one_tick['time']
if self.current_slot not in [TimeSlot.pre_trade, TimeSlot.trade_hours] or \
self.current_slot is TimeSlot.trade_hours and self.is noon_time:
return # in case ticks arrives before index, and ignore noon-time ticks
if self.current_slot is TimeSlot.trade_hours and not self.is noon_time and \
(tick_time < "09:30:00" or tick time >= "15:00:00" or "11:30:00" <= tick_time < "13:00:00"):
# print(" -- ignored non-sync ticks:", the_tm, flush=True)
return # ignore non-trading hours in case of non-sync ticks

code = one_tick["code"]
ptr = self.latest ticks_info.get(code)
if ptr is None:
ptr = dict(
day_high=one_tick["high"],
day_low=one_tick["low"],
new_high=False, # reaches new highest price compared w/ previous ticks in day
new_low=False, # reaches new lowest price compared w/ previous ticks in day
prev_point=one_tick["price"],
raw_tick=one_tick
)
self.latest_ticks_info[code] = ptr
else:
ptr["new_high"] = (one_tick["high"] > ptr["day_high"])
ptr["new_low"] = (one_tick["low"] < ptr["day_low"])
ptr["prev_point"] = ptr["raw_tick"]["price"]
ptr["raw_tick"] = one_tick
ptr["day_high"] = one_tick["high"]
ptr["day low"] = one_tick["low"]
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def do_deals_matching(self):
buy list = [ptr for ptr in self.active_orders.values() if ptr["raw_order"]["op"] == "buy"]

sell 1ist [ptr for ptr in self.active_orders.values() if g coougoder”" ]["op"] == "sell"]
A% 4 &
if len(buy_list) > @:

completed = 1list()
buy list.sort(key=lambda x: (x["raw_order"]["code"], -x["raw_order"]["price"], x["order_id"]))

H->L
for ptr in buy_list:
code = ptr["raw_order"]["code"]
one_code_tick = self.latest _ticks_info.get(code) # may not exist due to reloading from db
if one_code_tick is None:
continue
fully filled = self.try a match("buy", ptr, one_code tick)
if fully filled:
completed.append(ptr)

if len(sell 1list) > o:
sell list.sort(key=lambda x: (x["raw_order"]["code"], x["raw_order"]["price"], x["order_id"]))
L->H
for ptr in sell list:
code = ptr["raw_order"]["code"]
one_code_tick = self.latest ticks_info.get(code) # may not exist due to reloading from db
if one_code_tick is None:
continue
fully filled = self.try_a_match("sell", ptr, one_code_tick)
if fully filled:
completed.append(ptr)

# move completed orders from active queue to expired queue
for ptr in completed:
order_id = ptr["order_id"]
self.expired orders[order_id] = self.active_orders.pop(order_id)

BRI AR SRETINE - m L PR
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def try a match(self, op, order ptr, tick ptr):
one_order = order_ptr["raw_order"]

one_tick = tick_ptr["raw_tick"] .
timestamp = datetime.now().strftime("%Y-%m-%d %H:%M:%S") ﬁé’l‘ﬁ

prev_point = tick_ptr["prev_point"]
latest = one_tick["price"]
highest = max(prev_point, latest)
if tick_ptr["new_high"]:
highest = max(highest, tick_ptr["day_high"])
lowest = min(prev_point, latest)
if tick_ptr["new_low"]:
lowest = min(lowest, tick_ptr["day_low"])
quotation = one_order["price"]

fully filled = False
deal price = None

if _enable_partial filling:
try:
pending_quotes = [
(one_tick["a5_p"], one_tick["a5_v"]),
(one_tick["a4_p"], one_tick["a4_v"]),
(one_tick["a3_p"], one_tick["a3_v"]),
(one_tick["a2_p"], one_tick["a2_v"]),
(one_tick["al_p"], one_tick["al_v"]),
(one_tick["bl_p"], one_tick["bl_v"]),
(one_tick["b2_p"], one_tick["b2_v"]),
(one_tick["b3_p"], one_tick["b3_v"]),
(one_tick["b4_p"], one_tick["b4_v"]),
(one_tick["b5_p"], one_tick["b5_v"]),
]
except Exception:
print("-- invalid tick detected:", one_tick, flush=True)
return False
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feasible = False
seq = None
if op == "buy":
if quotation >= lowest:
ub = highest if quotation > highest else quotation
1b = lowest
it = filter(lambda x: 1lb <= x[@] <= ub, pending quotes)
candidates = [pv for pv in it]
seq = reversed(candidates) # L->H
feasible = True
else: # "sell"
if quotation <= highest:
ub = highest
1b = lowest if quotation < lowest else quotation
it = filter(lambda x: 1b <= x[@] <= ub, pending quotes)
candidates = [pv for pv in it]
seq = candidates # H->L
feasible = True
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if feasible:
rest_num

for p, v
deal

rest

# up
orde
orde
orde
self

fill

# se
obj

= one_order["num"] - order_ptr["acc_num"]

in seq: ‘
_num = min(rest_num, v) % &

_hum -= deal_num

date queue info

r_ptr["last_deal _time"] = timestamp
r_ptr["acc_num"] += deal_num
r_ptr["num_deals_made"] += 1

.persistent_record("order", order_ptr)
ed in _one time = (deal num == one_order["num"])
nd a feed back

= dict(

msg_type="partial_filled" if not filled_in_one_time else "filled",
message="#B4r K" if not filled _in_one time else "4 FEEAC",
reason="",

order_id=order_ptr["order_id"],

submit _time=order_ptr["submit time"],

# more info

op=one_order["op"],
code=one_order["code"],
claim_price=one_order["price"],
claim_num=one_order["num"],

deal seq no=order ptr["order_id"] +
deal price=p,

deal num=deal num,

deal time=timestamp,
acc_num=order_ptr["acc_num"]

+ str(order_ptr["num_deals _made"]),
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self.push_feed_to_queue(obj)

self.persistent_record("deal", obj)

if rest _num ==
order_ptr["state"] = "done"
self.persistent_record("order", order_ptr)
fully filled = True
break

else: # fully filling only
if op == "buy":
if quotation >= lowest:
if quotation > highest:
deal price = highest
else:
deal price = quotation
fully filled = True
else: # "sell"
if quotation <= highest:
if quotation < lowest:
deal_price = lowest
else:
deal price = quotation
fully filled = True
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if fully filled:
# update queue info
order_ptr["last deal time"] = timestamp .
order_ptr["acc_num"] = one_order["num"] ﬁé”(ﬁ
order_ptr["num_deals made"] += 1

order_ptr["state"] = "done"
self.persistent_record("order", order_ptr)

# send a feed back

obj = dict(
msg_type="filled",
message="42#F K",
reason="",
order_id=order_ptr["order_id"],
submit time=order_ptr["submit time"],
# more info
op=one_order["op"],
code=one_order["code"],
claim_price=one_order["price"],
claim_num=one_order["num"],
deal seq no=order_ ptr["order_id"] +
deal price=deal price,
deal num=one_order["num"],
deal time=timestamp,
acc_num=one_order["num" ]

+ str(order_ptr["num_deals made"]),

)
self.push_feed_to_queue(obj)

self.persistent_record("deal", obj)

return fully filled
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# 40 A& — Feed 4« 32

class FeedsProcessor(threading.Thread):

SR H AL B RR

def __init_ (self, inner_feeds):
super(FeedsProcessor, self). init_ ()
self.inner_feeds = inner_feeds

def run(self):
while True:
item = self.inner_feeds.get()
if item is None:
break
category, original record = item
print(original_record, flush=True)
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class SimuTickReceiver(threading.Thread):
def _init_ (self, tick_queue):
super(SimuTickReceiver, self). init_ ()
self.tick_queue = tick_queue
self.running = True

def run(self):
ticks _file = os.path.join(sys.path[@], 'ticks")

# IFTA) PR AL, B 4 dst Js 4R 25000 O P )
tick_time = datetime.strptime('09:30:00', '%H:%M:%S')
while self.running:
with open(ticks_file) as contents:
for line in contents:
tick = json.loads(line)
tick["time'] = tick_time.strftime('%H:%M:%S")

self.tick_queue.put_nowait(tick)
tick_time += timedelta(seconds=1)
time.sleep(0.01)

time.sleep(3)

def stop(self):
self.running = False
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class SimuTickReceiver(threading.Thread):
def _init_ (self, tick_queue):
super(SimuTickReceiver, self). init_ ()
self.tick_queue = tick_queue
self.running = True

def run(self):
ticks _file = os.path.join(sys.path[@], 'ticks")

# IFTA) PR AL, B 4 dst Js 4R 25000 O P )
tick_time = datetime.strptime('09:30:00', '%H:%M:%S')
while self.running:
with open(ticks_file) as contents:
for line in contents:
tick = json.loads(line)
tick["time'] = tick_time.strftime('%H:%M:%S")

self.tick_queue.put_nowait(tick)
tick_time += timedelta(seconds=1)
time.sleep(0.01)

time.sleep(3)

def stop(self):
self.running = False
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def main():
the_dm = DealsMaker()
print("The Deals Maker is running, enter 'info' or 'exit' to debug or stop it...", flush=True)

the_dm.start()
while True:
cmd = input().strip()
if cmd.startswith('order: '):
orders = cmd[7:].split(',")
the_dm.new_order(orders[@], code=orders[1l], num=int(orders[2]), price=float(orders[3]))
elif cmd == "exit":
break
the_dm.stop_dm()

if _name__ == "_main__":
main()
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#_*

from

from
from
from
from
from

- coding: utf-8 -*-

datetime import datetime 4% B Fip A

data.daily crawler import DailyCrawler
data.finance_report crawler import FinanceReportCrawler
data.fixing.daily fixing import DailyFixing
strategy.strategy module import Strategy
factor.factor_module import FactorModule

# SR HTH

curr

def

ent_date = datetime.now().strftime('%Y-%m-%d")

crawl data():

MK

dc = DailyCrawler()

dc.crawl_index(begin_date=current_date, end _date=current_date)
dc.crawl(begin_date=current_date, end date=current_date)

fc = FinanceReportCrawler()
fc.crawl finance_report()
fc.crawl finance_summary()
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def fixing data():

c«cI6c

R

df = DailyFixing()

# THESAU T AT

df.fill_au_factor_pre_close(current_date, current_date)

# THEEKT AT

df.fill_high_limit_low_limit(current_date, current_date)

# TR K E

df.fill daily k_at suspension_days(current_date, current_date)
# WAL HIRE

df.fill_is_trading_between(current_date, current_date)

def compute factor():

c«cI6c

IR E AT

21669

fc = FactorModule()
fc.compute()

def get_today_candidates():

c«cI¢6c

UL TR K A 4/E, Logs/candidates. Log
strategy = Strategy('low_pe_strategy')
strategy.backtest()

if __name__ == '_main__"':
crawl_data()
fixing_data()
compute_factor()
get_today candidates()

BT S Bip A
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BT AL 38 12

Aw (A& RPIE£BTHM)

B 42 %#. MC8s. TB. WH8. TS. MQ/OQ. MT4. ...

= % (SaaS/ 4 7 = 4| %)

B 2% ®JoinQuant. 4f s Uqger.io. # & RiceQuant. Apama.
BotVS.

SDK/API+UIl (43 4% /\Web)

B 7 #Wind. % #fChoice. #& 4& fugmsdk. ...

7 & 42 2= ( % & FPython)

B PyCTP. VN.PY. QuickLib. ...

/&)f&o%l LmE (FARETR H K4 THE R
H

B CTP. Web Service. EasyTrader. ...
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Python i F & AHEZE A

(U

logging

Numeric

Level value

éﬁa ﬁ CRITICAL 50

[] /é, ﬁ,‘: ERROR 40
WARNING 30

B %35 (Level) INFO 20
DEBUG 10

= 05 ’@i‘ % ;\‘ NOTSET 0

B 4325 X

8 A A
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# -*- coding: utf-8 -*-

import logging.handlers aEx#ti®
import sys

L

class QuantLogger:
def _init (self, name):
# k5 HBEMEE
self.logger = logging.getLogger(name)

self.logger.setlLevel(logging.INFO)

format = logging.Formatter('[%(asctime)s[%(name)s] %(levelname)s: %(message)s')

handler = logging.handlers.TimedRotatingFileHandler(sys.path[2] + '/logs/' + name +
".log', 'D")

handler.setFormatter(format)

self.logger.addHandler (handler)

# FEH B E

self.errorLogger = logging.getlLogger("ERROR")

self.errorLogger.setlLevel(logging.ERROR)

errorFormatter = logging.Formatter('[%(asctime)s[' + name + '] %(levelname)s:
%(message)s"')

errorHandler = logging.handlers.TimedRotatingFileHandler(sys.path[2] + '/logs/error.log',
'D")

errorHandler.setFormatter(errorFormatter)

self.errorLogger.addHandler(errorHandler)

ERMSRA T ARETINE - I UL 5 PR

ChinaHadoop.cn



# AR HENKE

self.debuglLogger = logging.getLogger("DEBUG")

self.debuglLogger.setlLevel(logging.DEBUG)

debugFormatter = logging.Formatter('[%(asctime)s[' + name + '] %(levelname)s:
%(message)s')

debugHandler = logging.handlers.TimedRotatingFileHandler(sys.path[2] +
'/logs/debug.log', 'D')

debugHandler.setFormatter(debugFormatter)

self.debuglLogger.addHandler (debugHandler)

def info(self, message, *args):
self.logger.info(message, *args)

def error(self, message, *args):
self.errorLogger.error(message, *args, exc_info=True)

def debug(self, message, *args):
self.debuglLogger.debug(message, *args)
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class Backtest:
def _ init_ (self, strategy option, begin_date=None, end_date=None):
self.strategy option = strategy option
if begin_date is None:
self.begin_date = self.strategy option.begin date()
else:
self.begin_date = begin_date

if end_date is None: 3] Féfﬁ@iﬁ] _ backtest.py
self.end _date = self.strategy option.end _date()

else:

self.end _date = end_date

self.dm = DataModule()
self.code_daily cache = dict()

self.logger = QuantLogger('backtest")

# %I H B — 00 [
for date in all dates:
self.logger.info('JF4GIEIM, HIEH: ' + _date)
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